Name of the Trade : Wireman 2" Semester - Module 1 : Measuring Instrument

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
1 |What is the type of scale? Coarse fine scale Extended scale Linear scale Non linear scale  [¥5CGloll USIR 9 82 olRE92 £S5 WA [CERET ulla e oflot vl Bt c| 1
(4] 0.2 0.4 0.6 0.8 1
I e A At

2 |Which classification of instrument tangent Secondary instrument| Absolute instrument | Recording instrument Integrating BorgHoe co%oe dcdolldleRe] YA s ULl AYal ALl R85 BorgHo2 Asls0L Alst B 2
galvanometer belongs? instrument 5Y C{D[[SQQL 87

3 [Which electrical effect, the moving iron Heating effect Chemical effect Magnetic effect Induction effect  [58 [Agd WuR,uR Yol 8ot ellRoL v3se AAURAQLS AUUR Jorsla WA B 5ol AUUR c| 1
instrument works? Albel 514 52 B?

4 |Which meter is used to measure only DC Moving iron repulsion [Moving iron attraction Induction type Moving coil sl HlaRell Guallol g5cl H[coL u2et (oL uaet B0552ol UslRa]  [H[doL slecetll Auell| D 2
quantities? type instrument type instrument instrument instruments Slallol Mot Hive 1 ax Riatet elsu wsval Usire] Allel

8? BorgHo? Ultlot

5 |Which meter is used to measure the medium |Shunt type ohmmeter Megger Galvanometer  [Series type ohmmeter[HlS[2H Helotl AcRual Hiudl | 2o UsR Al {leR R a2 ARl ustk wele: | A 2
value of resistance? U sl Hleell GuAlaL ald B?

6 |What is the disadvantage of induction type Itis used only in AC [ Itis used only in DC | Cannot be used for | Cannot be used on [8e5s2lat 2leU dlceHl2Rq] Aall GUaldL $5cl Aol BUAIL 5 GRu $32 ML olol AL wal SR | A 2
wattmeter? higher current both ACand DC  [JRcue g 8? A Sl L ® Guallol 531 Asldl | UR aull st

ol ol

7 |Which is the advantage of dynamometer Uniform scale Less expensive High sensitivity  |Consumes less power|stalettlid{le? clceHleall slalel YlAslH B Ay vl G Adeqtllddl AL 2Alselall A 2
wattmeter? 9 &7 aAuRvAe 52 O

8 |Which factor the accuracy of ohmmeter Type of scale Condition of battery | Sensitivity of the Value of resistance [llatH{l2R¢{l A s sl URon Bl USIR ole3lell RAlA  [HleRddl Aeatallecl Hyal Hie B 2
depends? meter to be measured  |UR AUURd B? U RLe] HeRL

9 [What is the meter constant of an energy Multiplication factor Number of Initial reading of KWh [ Final reading of KWh [dsi%(Hl2? Hlere] HleR RAR g | letxlle? leRet | uld Kwhsildsll [5soeqjplaue] wRlels | ssocyiu Mlers] | B 1
meter? of energy meter revolutions per KWh meter 87 Jleustr uRaan HuRAl aAlJUol UdAH dlel

10 [Which meter is integrating type instrument? Wattmeter Ammeter Multimeter Energymeter 521 Y5Retl Altolol Aslgd cdledle? Az yleeuleR a2 D 1

sclle] HleR B2
11 |What is the function of permenent magnetin | Acts as a brake to It helps the disc to | It reduces the friction | It gives path for the [WetslHle? Hleul URnLel2 AR AS ‘el sl [wAUR Al UG SlA [ UNRL et wals 8 A Jausla yas A 2

an energy meter?

the disc when the
load is ‘OFF’

move when load is
‘ON’

error

magnetic flux

Jouso] st g B?

AR (s U Qs
A s 52 D

QAR A Bsa
WASCUHL HEE 52 B

H2 HOl A B




12 [Which error is caused by the braking system Creeping error Speed error Phase error Friction error Aol Hleell alsol sldloL ot ald et dotssl ejct TRERCTE!
of energy meter? Rrenell 58 oet i B2
13 [How many segments in LCD displays in 10 8 7 6 (Slpect ulee Hler (SlAmly) 10 8 7 6
Digital Multi Meter (DMM)? Hi A8 Brant dea
Aoz B?
14 [What is the purpose of variable resistance To measure To adjust the printer [ To measure DC To Measure AC  [H(@H[2R0tl ‘X' 25 Rllad yldsRal A2 Ad | Yol UR oRloR | Sl clleeaal uAle | Al cleewal U2

marked as 'X' of multimeter? resistance accurately exactly at zero voltage accurately | voltage accurately |4Ad A YlAsRol & 9 B? Hyel He [QeRal yHERABA A Hual | A e H2
sal
RESISTOR BEING MEASURED ‘é
9
g
15 [What is the name of meter? Vibrating reed type Weston type Electro dynamo type | Ratio meter type  [Hl2Rd] oliid 9] 82 asgeal s Aot YslRe] BAsRL stetldl | 9l HleR usiR
frequency meter frequency meter frequency meter frequeny meter ysiell slsiconl slstaoll Hle? ysiR glstaell Hle? slstaal Hle
e
16 [Which is the angle of two moving coils rigidly 90° 120° 180° 360° statettl {l2R usik 3 52 90° 120° 180° 360°
attached to each other of a dynamo meter YL alg. Hleell Asollost A 555
type 3 phase P.F meter? A AslAA A Rl SIBcall
sleL sl B2
17 |Which principle the instrument transformers Self induction Mutual induction Fall in potential Lenz's law Aat 2l 52l Rlald WR Acs o552t 124 U A Bo552Uot Aedd yatsl Aol [AAH
work? sl 52 ©7?
18 [How the burden of current transformer is Watt Ampere hour Volt ampere Watt hour 522 glodsldRall R 5l 3lA AR scaus dlee aldlaR dle sAls
expressed? sl UlA B? dle
19 [Why the pointer of a megger is in any place | The deflecting torque |The deflecting torque | The instrument does |[The deflecting torque [RoRall [AEas (Al slal Ol (S¥sAlCoL 215 HleR wR [ss@selol | gorgRoeml s2lAdL (SsAslol 215
on the scale while its in idle? is proportional to on the meter is not have controlling is inversly BV UR SlESURL UM 3U B? | dcdMlololl YHIRRIR 25 ccdutatell a5 olell ccdHlototl AU
current inversely proportional torque propotional to square @QuBa YHIRRR B R incg yHelelct
to current of the current 2]
20 |Which principle earth tester works? Induction Magnetic attraction | Magnetic deflection Full of Potential [l 2R sal Rlgld uR stal 52 B0559lol Jousla usrgl Jousla [ABeat defldd yal

8?




21

What is the name of term that be ability of the Precision Sensitivity Resolution Accuracy Uldloal dlRAlR AH AUl He ALSALY Aaeatalladl Resolution AsAUES
measuring instrument to agree with itself HlUet Altotofl &l sl a
repeatedly? UgEq] olld g B?

22 |What is the cause for creeping error in Change in resistance [Improper power factor|  Rotation of disc Abnormal friction of [AetaHl2Hl [Auetell ejclo] YlasRUl 3812 | alloal WaR 3522 | 2R cls olu alat H[dot Rl

Energy meter?

when the load is OFF

the moving system

s12QL 9 B?

R Brso] uRyHRL

WAHLA ureL

23 [How the low range of the ammeter can be By connecting a By connecting a By connecting a By connecting two  [33{l2R¢{l o{ll 0% $cll 3l o2 (e 2R slsctdl Qe 0@ ARlul AcA WA A
extended to higher range? shunt resistor in | resistor in series with |resistor in series with |resistors across with |Gl 2% Ytll (At ueS 2d B2 | 2Rell slsctsll ARl B |2 sAAse 53| ABeeRA Bl
parallel across meter meter coil supply supply UHARHUL HSlaA A SlA

coil




Name of the Trade : Wireman 2" Semester - Module 2 : Electrical Wiring System

Question OPT A OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
What is the name of wiring? CTS/TRS wiring Cleat wiring PVC casing & PVC conducit wiring [clllR2le] ollH g B2 e/ sAe alaf3aL Ullll 3Rt i | Il sog852 B 1
Capping wiring lRAY ata3at 3oL calRFoat at3at

5

g

S
Which represents the physical position of Wiring diagram | Schematic diagram | Installation plan Layout diagram  [cltU(R0l SorelAlotil AUsAuR el | ctlRal st | alwetslal augld AUt Al AuGe augld C 2
accessories in the wiring installation? WRRs RAA] AR« 9 52

8?
Which wiring can be done either on surface (or) Cleat wiring Batten wiring Pvc conduit wiring Pvc casing & (EcuctMl salses AUl UR (Aaa) sAe clalRal oleat claRol Ulclll sogse | Ul 5RbL el | C 1
on connected in the wall? Capping wiring |5l ctaFoL a8 2% B2 atuFat 3oL calRFot
What is the expansion of abbreviation TRS? Total Rubber Tough Rubber Tyre Round Total rough Bacllst TRScj ng ollH Qj 87 Total Rubber Tough Rubber Tyre Round Total rough B 1
Sheathed Sheathed Sheathed sheathed Sheathed Sheathed Sheathed sheathed

What is the name of illustration? Layout diagram Circuit diagram Installation plan Wiring diagram ~ [GEL&RWLe] ollH 9 ©? AQuGe agld ulRua augld AUt Aol atafaL st | € 1

g

g

E
How many points are recommended in power sub- 1 point 2 points 3 points 4 points ollRUSAA YHIO WaR Aol 1 W2 2 o2 3 UEe2 4 WS B 1
circuit as per BIS? UlBeHl decl Wooll aetHal

sallHl A B?

What is maximum power recommended to the 3000 watts 1500 watts 800 watts 750 watts UBY AHl AUgUR AlBe U 3000 cl2 1500 cll2 800 clle 750 dle C 1

light and fan sub circuit as per IE rules?

Yot Aol AB2 Ml HedH WeR
el 9 82




8 |What is the recommended minimum height of 130 cm 140cm 150cm 200cm olU3HHL W52 uBAze(l oLl 130 AL 140 AL 150 AL 200 Q.M.
socket outlet shall be provided in the bathroom? Al QU 3ecll Yelol sRcllHl
wld ©?
9 |Which is represented by the BIS symbol? Fuse Link Resistor Plug and jocket [o{l. & A Udls gLl sl % 3R 531 yldsiRs LA ol BE2
aRL 8?
Q
0
3
f
Z
§
3
10 |What is the name of the fuse? Ferrule contact High rupturing Diazed screw type Rewirable fuses [%]230] ollH 9] 87? 5 AUS 523y | GRAU GOURL &l | SlA%S g UsRall | lalired %y
catridge fuses capacity fuses catridge fuses % KJ) ERELY %
BREAK INDICATOR
:
|
H
11 [What is the name of term that the time taken by a Fusing current Fusing factor Cut off factor Currentrating  |[$ sl eldo{l Yeattl AUls2eHl % 532 w[BoL uRun 52 g 3522 522 (3ol
fuse to interrupt the circuit in the event of fault? @Ay cladlell ¥H2A 9 & Ao
ollH g B?
12 |Which is used to quench the arian quickly without Dry land Lime powder Graphite Silica ALl WARL (Aot 235Ul sl el Yoll ULAS? Aslee RAsL
any fire hazard? Aot ulaal 12 salell
GUAAdL sRAUHL WA B?
13 [Which type of fuse is used for electronic circuits? Ferrule contact Re wireable type HRC fuses Diazed screw type [68Qs2llas AlSad HIE sA UsRell | §cA Aub 323w Al-clarRod AAURAL 23 | slauxs g UslRell
catridge fuses fuses catridge fuses  [$23ell GUADL WL B? I} YsiRell 40 32Rs s
14 [Why the foot contacts of the fuse catridges have To increase the Toincrease the |Toreduce therating | To preventthe |94 Sridgoll Udlell AUSHI €38 cldMlet AL AUS [ARaR 2L BRRRAUR | wlal adHtet s
different diameters for each rated current? current rating contact area effect insertion of wrong |25 cdMiet W2 (AlAu caud 3u adulRal Hie adulRal Hie Aol alsal Hi2 s catl2BuUsll
current rated 8? (AAglal Ascl 12
catridges
15 [Which is the minimum thickness of teak wood Not less than 5 mm | Not less than 8 mm [Not less than 10 mm|Not less than 12 mm |citaRal Hie aunAl L 5 {{{lll 201 atsl | 8 Hlallell 21681 ol 10 Hl{lell 208l | 12 {la{lell 21681
batten used for wiring? alsstoll uglell Ay Sl ¢ alel alel

&7




16

What is the name of teak wood joint?

WMN22L1Q16

Cross joint

Corner joint

Cross bridge joint

L' Joint

2ls qs Aleeeo] olin g B?

PR G

PEE)

sl (ol 8o

AU A2

17

How th size of teak wood battens are specified?

Width and length

Thickness and
length

Width and thickness

Length only

cls os csstoll uglullef se 5l
Ad GecAMd B2

Usloles wal colles

ASLES A Aol

USLOUE Aol HSLE

g5l Aolle

18 [Which type of joint is used to run the wires from Half lap "T" joint Straight joint Corner joint L'joint batten  [El.suiee) Aleet cllRIHL sall UsUL g "2l Al Uysc 8lol? AYscl A UYscl Aot
horizontal position to the vertical position either ol Asti C{ardSS%{ (RAaUa) GuRell UYsd
down wards (or) upwards in T.W batten wiring? olgell w1 RAA icalell
RALAHL cuaRal Acticel W2 sl
YsiRell AYscioll GUALL wA B?
19 [What is the length of lapping is to be provided for 19 mm 25 mm 30 mm 40 mm clsocyy ol Al AYsctul 25 H{ll 19mm 25mm 30mm 40mm
jointing 25 mm width batten in straight joint of yglougell Glzal lscll Hie
T.W. batten? ALl doues 3ecll 82 Ae?
20 [Which type of joint is used to extent the length of Cross joint Corner joint Straight joint "L" Joint lsue) Aeotell dolleal cuRel Sl AUYscl 8lol? Y sl Al AUYsct A" AYscl
T.W batten? HE sl YslRatl AYscloll GUuAL
ARl B?
21 |What is the name of pre circuit accessory? Solid elbow Solid TEE Solid bend Coupler [ ulse AAU3Le] oitr g B2 qUAs slell Alds Ely.v. AAs awng AR
5
i
H
22 [Which conduit fitting is used to join additional Bend Elbow Tee Coupler $o582 AlARINal Gloll WA ang REN 2l AR
conduit pipe in long run of conduit wiring? AURLell So§82 Luﬁﬁm—ll oglsiell
U2 5Y sog85e (3(Eolell Guallal
A B?
23 [What is the name of coupler? Screwed coupler | Check nut running | Coupling for flexible |PVC conduit coupler [$WcRe] olti 9 87? HRLOL §lR AUURZ Acllddl  [dadls oo Hieof [ ULl widst
coupler conduit SR Ul AN SR




24 |Which type of wiring require less number of Battern wiring Casing capping Surface conduit | Concealed conduit [$2l UslReil cllRolel Al weRel ctuRaL  [BRL Ul carauRa] Auilett etollott pUAA stalloit
bends can be taken through shortcut route in the wiring wiring wiring duA Ul anisell 32 8l B a atuRFat a3at
roof? Ul 2ese 32 Gl A AslA B?

25 [What is the advantage of concealed wiring? The cost of Easy to trace the Semi skilled Wiring can be done [®WRc clARdAL slael 9 8?2 BoelAalotoll [(SH | 1™ 2™ scll HIR Al san PURAL alaRlell

installation is low fault technician can  |through the shortest el ® UM és_[a A2lat $lAEL 9 B?
carryout the wiring route COERE AR
uulcl a3 8

26 |Which wiring has to be planned and excecuted CTS wiring Casing and capping | Surface conduit Concealed wiring  [$5ct Hstotell (MRl €Mt sl | AlSlat cwalRol | sRlaL ua 5oL HULElell stollotl gulad a3l

only during the construction of building? wiring wiring ARote] vDFet B L5l atuFaL alaRFoaL
AU A SA?

27 |Which wiring is name as 'Wireways'? PVC conduct wiring CTS Wiring PVC casing and  |Metal conduct wiring[sll cllURole} ot 'ty ®? | Uldlll cwalRole] | AlElAx cwailRar | Il SR5L 21 Hed ARAR

capping wiring AUt 52 B 3oL ciaBoL alaFat

28 |How to attache the capping cover with casing By wood screws By wire nails By fixing clamp By slides the atFat yal s ugdl s{[ot sara LSS ¥ sl AR olu glRL sQuol (51 53l | sAallaa 8ls

(channel) after completion of wiring is PVC casing

capping in through

3ot (Aotct) WA 3l A s

53lal, 9clRU &R

and capping system? the grooves A Uleflll 3f{lot ual 3ol Ren 3oL EABS 52 B
8?
29 |Which is the disadvantage of PVC casing and Cost is move Inflammable and Requires skilled Extension not [l 3{lot wal 3oL ctauRotell (5HA AUA D [oaicdRL el dLe] $0 HIQL (A0l st otell
capping wiring? risk of fire man power possible Rl sl B? LTI Aol 32 ®
30 [Which is the distance that the clips to be fixed on 8.cm 10 cm 12 cm 15 cm R crauRonl elsdl @ldy ur 1234l 15l
TW batten on horizontals run in the battern wiring? Alsue] Aeot UR (AW oissl g Al 10 2.l
sclloll A BdR 58 ©?
31 [Which is the correct size of drill for making pilot 2 mm 4 mm 6 mm 8 mm 6 HIHl ol 25 Aos HIE WEEHR 2 mm 4mm 6mm 8mm

holes for 6 mm diameter screw shank?

BA vlotiaal R sclde] 0102
$E 53 B?

32

What is the depth of pilot hole for fixing wood
screw in soft wood?

Equal to ¥ screw
length

Equal to %2 screw
length

Equal to % screw
length

Equal to screw
length

oM GLsSIHL ctsslell 25 (35t
sl HI2 wsee 8l
depthéstes 32cll ®72

Rew 3§ ¥ olle
ORLR

Rew g ¥ colle
GRIR

Rew 3§ ¥ clolle
ORLR

¥ Aolle UMl B




Name of the Trade :

Wireman 2" Semester - Module 3 : Domestic Wiring Practice

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level

1 [What is the name of wiring system that enables | Distribution system Tree system Ring main system | Looping out from [clARol RleHe] ot 9 B ¥ Rlen Skllojatet e 2l RleH Hu 301 Rlen elamidl gl A 1
the applicances connected to the system to switch AU BSIAA BURAELRAA UHLat
have the same voltage? cleRos AWl HIZ A& 52 B?

2 |Which diagram indicates the ‘Up’ and ‘Down’ Installation plan Layout diagram Circuit diagram Wiring diagram  [${l gl W wa *SIBet’ SHUA R0t AU elad QAuIG2 SLAIUH YRy stauauH arafFat st | B 1
cable run and number of wires in the run? UA UL clduRe{l vl YA B?

3 |Which type of wiring system requires special Tree system Ring main system | Distribution board [Looping from ceiling [sall UsRell cual3a1 Riex 1R 2l Rikex Rot yuau Red | [AdRel ol Rier [l Azl gpllol| B 2
sockets or plug with fuse? system rose QR WU waud 2 AU

AoLo{l 32 82

4 [Which type of wiring system is suitable for Tree system Ring main system | Distribution board Looping out with  [H(cRI3L (Bl Hie sl ysirell 2l Riex Rot qua Red | [Acral oS Rired |l A2l glot| A 2
multistorey building? system junction box alARa1 RreH A0 B?

5 |What is the standard size of Gl earth wire in 8 SWG 10 SWG 12 SWG 14 SWG SEls BorelAaletil e yedl 8 SWG 10 SWG 12 SWG 14 SWG D 1
dometic installation? clRe] YHgled € 9 B2

6 |Which size of copper wire is used to lighting 1 sqg mm 1.5sg mm 2.5sg mm 4 sg mm SIUR dlAR sl seqll cus(3al ulse 1sq mm 1.5sg mm 2.5sg mm 4 sg mm A 1
circuit? HEE duRA B?

7 |Which type of light fitting are used for outdoor Bracket fitting Bulk head lamp Water proof light | Chain lamp fixture [4G2SIR cllBlEoletl & Hie sl Bracket fitting oles &5 ArU (3leaL [aleR ys cuse (5o s Amu (g2 | C 2
lighting purpose? fitting fitting ysiRell cse (3(Eotell Gulol atat

8?

8 |Which type of the filler materials is used after Paper Asbestos Cotton Clay BRA oletical Ul sal ustell (5 quR PRETAFENEY] SURL sA B 2
making holes? AHYA Gudol Ul 8?2

9 |What is the name of wiring circuit is illustrated? Tunnel wiring Corridor wiring Hostel wiring Hospital wiring  [clla(20L Alseq] ottt g 8 A URA 82 2ald atal3al RIEREICIBIER sled ataf3al RIREEIETOES B 1

L4 Ls L2 &N
Sz Sy Se2  Set S22 Szt Sz Sn
10 |Which is four terminal switch? One way switch | Mult position switch | Two way switch | Intermediate switch [A1R e[etct (U s2u B? dot A RAU AQUA| Ul Rt Rau 2 A Rax neaadl flu D 1

three poles

single pole

Roldt Wt




11 [How many numbers of single way switch and |2 single way & 3 two |4 single way & 1 two |1 single way & 4 two | 3 one way & 2 two |5 QrLcllow dUSIGet cllA(RaL HE 2RDIA AU 32 [4RO Aud 12 [1RDIEA Aud 4 [3adt Adual 2 A
two way switch are required for godown wiring way way way way Secll vauul Rolet A [lu wal g a a a
with 5 lamps? A LU %33l B2

12 [How many two way switches required to control 1 2 3 4 3yel el UAAL As glalal 1 2 3 4

one lamp from 3 different places?

QA sal HIZ 3ecl A A RAw
UlaRUs B?

13

What is the name of wiring of one lamp
controlled from two different places?

Go down wiring

Tunnel wiring

Stair case wiring

Hostel wirining

A el FeL RN AR s
glellatl cwauRFoLe] ot 9 B2

JUSLGat cual3aL

2ol cla(3al

eLleR cual3aL

slkec alaulRal

14

Which diagram informs the reader about design
of circuit without giving any information on the
circuit itself?

Circuit diagram

Installation diagram

Layout diagram

Wiring diagram

sl AUE[A adlpeiza U524l 81
HIRA 2 Qo ulSeoll 2ustl
QA WA 2 B2

URua staaln

LU ol

AUG2 staalH

clAROL StAUH

15

Which diagram indicates the ‘Up’ and ‘Down’
cable run and number of wires in the run?

Installation plan

Layout diagram

Circuit diagram

Wiring diagram

sl Ag(A AW B SIBel’ SUict R0l
UA oL clduRe{l vl YAA B?

LU elat

AMUG2 staauH

URBua st

clAROL StAUH

16 [Which wiring circuit needs to switch ‘ON’ alamp |  Staircase wiring Godown wiring Tunnel wiring Corridor wiring sl cll2URoL Al§2al wd1n et eleR clalzal ASLBat clal 2ald alRal PEIREETOER
ahead, while the light behind is put ‘OFF’? @ lu sRellefl %32 B, wuR
ulgoell ystal ‘ol YsatHl w1 8?
17 |Which wiring circuit is provided with one switch Tunnel wiring Jail wiring Hostel wiring Corridor wiring |82l cllg(2ol ulsea dHId clged 2ald a3l ®c alaual slect ataul3al slAslRa3at

to operate ON or OFF all lights?

ALY AU ol Avial HIR As wlu
AU YElol scllHl v B?

18 [What is the purpose of circuit diagram in wiring Indicates with It explains the Represent physical Gives final alalol SorelAatHl Ulse Yclsl wal cialal ad [Aldu AAAARA wRIRSs | WUUtall B[AH

installation? symbols and details | function of various position of appearance of  |SL2UUHeN & 9 B? Ugldoll [Qotdl A& | AAAABeU st | RA[Ae] ylAlRA([Rct gullal AU B
of wiring method accessories accessories installation yuad 8 UHAA B ERl

19 |Which material is used to make rawl tool Carbon steel Mild steel Galvanized iron Iron SLAUL AlYol YIRS Glollalal HIE §8 slolot Xled HIBES e ACAAES RS Allel Alvis
holder? ALYl GuRlaL w B?

20 |Which tool is used along with a hammer to Pipe jumper Rawl jumper Cold chisel Firmer chisel atalRat exauet (eatdlstl (B WBU SR A SR sies elell PR EREIE
make through hole in walls during wiring? Gotlaiall HIE sllsl WA sl

Ulbotoll GUAL sCUHL AUA B?

21 [Which meterial is used for making the pipe Mild steel High carbon steel Galvanized iron Cast iron YLSU %2UR Glollaall HI2 sl saal ¥lad G slolol Rl | dcdailnis ulausl sl 2ol
jumper? ARUEAA GUADL AU B?

22 |Which tool is used to make holes in the brick Rawl Jumper Brawdle Web chisel Cold chisel &2 el sl(seall [Ecucdldl B A 2R EE Aut e sies Slall

and concrete walls?

olollelell HIZ sl Ultlotall GUAL
Al B?




23 [How to avoid the broken of Rawl tool bit while [ It should be kept at | It should be kept |[Rawl tool bit is to be [ By using correct  [[Eallct UR [Ba vletladl awmd, ACA Aal [ acsll Aal [Eatctell qudl | sl gt ofle 0=l | Rac g ollestt
making hole on the wall? right angle to the | less than 90° angle properly fitted size of rowl tool bit |t olleell qectt 2t Hi2 Fcll AA? [Audlott aHan weu [uR 90 © slatell A | A gle aclell ® | wAL seall Guallal

wall surface to the wall surface UR AU A AU AR 3lal

24 [How many numbers of single way switch and |2 single way & 3 two |4 single way & 1 two |1 single way & 4 two | 3 one way & 2 two |5 ARRLcllol dUSIGet cllu(RaL e 2RI AU 32 [4RDEH AU 12 [1RDIEA AuA 4 [ 3add Auadl 2¢ A
two way switch are required for godown wiring way way way way Secll dvauul Rolet A [l wal g a a a
with 5 lamps? A flu %33l B2

25 [How many light, fan and 6A socket outlet points 7 Nos 10 Nos 12 Nos 14 Nos WBY [ Horol yo-ulse HIe 7 Nos 10 Nos 12 Nos 14 Nos
are recommended for a sub-circuit as per IE B2Cll USLY, UKL ua 63 Wde
rule? UG2A2 Wteedoll MeHL sclH

wlA ©?

26 |Which is the height of horizontal run of cables 1.0m 1.5m 20m 25m YR clARIHL NE 815 ol 1.0m 15m 20m 25m
as per NE code in domestic wiring? So1clo{l A8 Retoll GLAE 585 B?

27 [What is the recommended height of socket 1.3m 2.0m 25m 3.0m oflRugAxd Yo sdllR Aactdl Wse 1.3m 2.0m 25m 3.0m
outlet from the floor level as per BIS? wlBeAeql Qe dedl 82

28 |Which helps the wireman and the consumer to Estimate Drawing Specifications Cost of material [cllaARNet Hie WHIYL UAE scll HI UELY R audls0l Aol (1
select the materials for wiring? cllaARN et el GURlScllal 52Ul HEE

$2 8?

29 |Which factor is to be considered for selection of | Connected load Type of building Type of wiring Size fo cables  [atl3oL Ui At (RdwE (R sa5es AlS Uslolall YsR alaRol RireHsll 501G Hleo] SE

supply (Single (or) 3 phase) for wiring? system 3 393) ofl uaieoll W2 s yRuna ysl?
ALl Ag ANSA?

30 |What is the name of vice? Bench vice Carpenter vice Pipe vice Hand vice AleUo] ol 9 B? AETISTGEN JUR AlsU WoU dlsd 8oS e

31 [What is the minimum size of rigid steel conduit | 12 mm diameter 14 mm diameter 16 mm diameter 19 mm diameter  [AUWElell stullott cuuRaL Hie 12 mm U 14 mm U 16 mm cAA 19 mm A
used for surface conduit wiring? GUALMHL Adlcll 5812 ¥ld atoullall

AUOLHL ALY s Y B?

32 |What is the maximum threads needed to Between 1 mmto5 | Between 6 mmto | Between8 mmto | Between 11mmto [AsAUILBell AYQL YSS AILHL 1 H{l{lell 5 H{l{lell |6 dladlell 10 ol [8 H{la{lell 16 Hla{lell 11 H{l{lell
accommodate the pipes to the full threaded mm long 10 mm long 16 mm long 27 mm long WU AHlAl MR HeTH IS sl CER AR AR 27H{1{le{l a2
portion of accessories? 8?

33 |Which tool is used for cutting thread on the Solid tap wrench Double ended Stock and die set | T-handle tap wrench [$e982 WHW UR IS slUAl Hle sl AAs 2u 3 SOl AHILd RS vla S8 A2 2l o5t ol 3U

conduit pipe?

adjustable tap
wrench

Alotoll UL U B?

ASHROEA 2U A




34 |What is the distance between the floor and 2m 25m 3m 35m e clARIHL AUEY [ Havol 2m 25m 3m 35m
distribution board as per IE rule in domestic AR U BRguyst S A ¥eq
wiring? YR B?
35 |What is the clear distance between teak wood 1.0cm 1.5cm 2.0cm 2.5cm What is the clear distance between 1.0cm 1.5cm 2.0cm 2.5cm
board and the cover of Hinged type boards? teak wood board and the cover of
Hinged type boards?
36 [Which is represented by the BIS system? Wattmeter Single phase 3 phase energy | Power factor meter [oll. 25 2. RIRRH glRL sl % AL cledle? Rt %23 Aot | 201 503 Aol Hler | war ¥ser Hle?
energy meter meter 8? 22
3Wh 8
g
s
37 |What precaution is to be followed before It should have name | Readings onthe | It should be tested | It must have atleast {G%1 Hl2? &M scll UsEl s Al oM A2 (SR WRell cli2at A URlagl st [ Al Al AL 2
installing energy meter? plate details display must be and approved by 2 years warranty | UcAclo] UAst $G HSA? (@QatAl el M ESA | cliual 92 dlal s EB ay AREl Aa®
readable the local EB period A5 A Ul AUORA §IRL alcll wiagaus &
authorities Hlel 8lg A
38 [What is the name of part marked as ‘X'? Energy meter I C cut out Main Switch Distribution board |'X’ 315 RU&ad UAE @LoLef oltH 9 Aol HleR IC 82 B2 PGEEE(EN (ARl oS
87
39 [Which is the minimum clearance between the 12m 1.8m 2.4 m 3.2m Which is the minimum clearance 12m 1.8m 24m 32m

bottom point of the ceiling fan and the floor as
per IE Rule?

between the bottom point of the
ceiling fan and the floor as per IE
Rule?

40 |What is the resistance value of earth continuity | Higher than 1 ohm | Should not be more | Greater than 10 Greater than 100 [yecllotl Al clese] uldsik Yl | 108l 10101 [As deH scll dy |10 watedl 100 4 (100 6L sl AUlR
conductor? to 10 ohm than one ohm ohm to 100 ohm ohm 9 B? scll AR ot 8l AN sl Ay
41 [Which is the length of pipe electrode used for Not less than 1 m | Not less than 1.5 m | Not less than 2.0 m | Not less than 2.5 m [weu (el e weu saszlsell 1 Lol 208l gl | 1.5 dlel 208l otel | 2.0 Hl st Sl | 2.5 Hl st 201

pipe earthing?

dollsS 58 B2

a8l

atel

42 [Which is the thickness of copper plate used for | Not less than 2.0 m | Not less than 2.5 m [Not less than 3.15 m| Not less than 6.5 m [w@2 (el 1 sluR waoll aste | 2.0 Hl st Sl | 2.5 {l st Sl [ 3.15 Hl sl 2068l | 6541 5L 4151
plate earthing? 565 B? at8l at8l 18l 18l
43 [Which method is used to reduce the value of By incerasing the | Connecting number | By increasing the By connecting  [(elol wcRlug] He Lelsal Hie weuell st AR yedl _yeelott vustell BoRJALS S0
earth resistance? dia of pipe of earth electrode in | depth of earth pit insulated cables  [5¢ Ug(doll GUDL ScUHL WA B? adudlal B8AsALSell Avallal | QsFHL At s3lal saAse s53la
parallel sl




44 [Where system earthing is employer? Commerical Industries Generating station | Domestic buildings [l Rled (ehol Bl 82 sluflacd (ol Gaol oot 2 2Uel oot 2 2Lel
buildings
45 [Where plate earthing is used? Commerical building Substations Industries Multistoried buildings[\@2 ol sl aua 87 sllac (Aot Ao 2Uet Gaoll olg Lol sHIRAL

46 [What is the permissible leakage currentin any | Not exceed 1/50" | Not exceed 1/500" |Not exceed 1/5000™ Not exceed VB (2 Hool sleugl aluRoL [ygl cls s22ell 1/50 | YRl cAls 822l Yol Als s22ell Yol Als s2ell
Wiring installation as per IE rule? part of full load part of full load part of full load l/50000th part of full 60@@%["1]{[ Hlad @%C’K 52 QJ é’) HL G{lDL?ﬂ C{g 0151 1/500 3& C{q 1/5000 HL @{l?laﬂ 1/5000 HL Q‘ll?laﬂ
current current current load current ewatell ay otel ay ot &g ay ot &g
47 |Which range of megger is to be used to test the 500 Volt 1000 Volt 1500 Volt 2000 Volt llugul -732 Yool Heaud dlee 500 cll@ 1000 e 1500 dlee 2000 e
insulation resistance in medium voltage wiring ARl BoRRlAAHT BorfA2Nat
installation as per BIS-732? Adeeoua AsLUCl U2 58 ARl
0ol GUAL sReHL AULA?
48 [Which type of testing for wiring installation is Insulation Insulation Polarity test Open circuit test  |cUARI BoA\AU HIZ SAUL USIRall $5522 R §5522 ol yed ylladl ulawl WUt Al5e 22
illustrated? resistance test resistance test udlawl AR B2 SEURHERIEETE AR BoJALet
between conductors | between conductor udlael yldstz udlaal
and earth
49 [Which type of wiring installation testing is Open circuit test Polarity test Short circuit test Insulation sl YslRell clauRol gar2lA2lel Wluet Ale 22 ylladl uilaw e Alse 222 BorjAalet Yldsi?
illustrated? resistance test uﬂ&{Qloj AR B? uéla{m
50 [Which type test is to be carried out to check Ground test Polarity test Insulation Continuity test [l Aol cWAUL SISIAA & 5 UBS 22 ylladl uilaw | sejAelet uaY soc{lo{l2l 222

wheather the switches are connected in line
wire or not?

resistance test

o8l A ASUAl M2 sl USRq]
yilael el wRaHl wa 82

ugla




Name of the Trade : Wireman 2" Semester - Module 4 : lllumination

Question OPT A OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
Which is the unit of luminous intensity? Candela Lumen Lumen/m? Luman/watt @M Soeot@2 ol AsH s O Sadcl @Mt SEERE (S OEE A 1
?
Which is defined as that the luminous flux Luminous flux llluminance Luminous intensity Lax Yz aA steu@ AUl uR axrdl yaue RAatell la RNatell et B 1
reaching a surface perpendicularly per unit USAG Axrell yats Boll catvall
area? 8?
Which is the properties of good illumination? Should cover huge | Should have glaring Should be low Should not strain the [ARL 8EJMaAet ol YUl 58 & 2 | adtlR [ArclR o Watoflattl Al AL AUl BHlA dBlal ot D 2
area light consumption eyes LR yslal ual
Which metal is used a filement incandescent Nichrome Tungsten Eureka Silver Sosodode (§CUNoe AU HIR 5 LS 5\H 2oReal Y8l Rcar B 1
lamps? naddURNA B?
What is the name of cap marked as 'x' of Edison screw cap | Small bayonet cap Bayonet cap Giant edison screw |[So$odode ARUHl X dd g2ldet AUSlet 35 35U A dl2dlae U ollAlale 35U Ao AUl 2P C 1
incandescent lamp? cap SUoj ol 9 B ? U

WMN24L1Q5

Where hatagen lamps are used? Domestic lighting Industrial lighting TV photography Out door lighting  [@21%el AXU sall GudloL A & ? SWREls clgelol | Sosglact clgelo eldl slelousl UBe sk agelal | ¢ 2
Which is coated in the tungsten filament of Barium and strontium Mercury Sodium Phosphor AR Yol QIUHL 53 SoR2at RIEETIEE] FEEDE AUSaH 2% A 1
fluorescent tube lamp? oxides Beuoe 5125 53¢ sl B 2 Rllzan M sAUES
What is the expansion of CFL? Compressed filement | Cathode filement | Common flurescent | Compact flurescent [CFL QiUo] Y3 ollH 9 & ? S109Ls (5clNoe | 35S [3ANoe Q1Y [slHol SRR U] sllse sl D 1
lamp lamp lamp lamp A [CREY]
How strohoscopic effect is prevented in By connecting a By connecting a By connecting a By connecting a  |8o53glact A Yol e sleloudl SUReR o €8 2Yulall Us a?gicﬂ AUl | cial e?g{aﬂ ellul | € 2
industrial twin tube light fitting? capacitor parallel to | capacitor parallel to | capacitor series with | capacitor a series  [RZERSIUS WU ollolE SRcll Aol AHIARML | UHIARHL 5URER? 50RAeR %lsq 50R2R #lsq
supply each tube one tube with both tube light |H(& g 8¢ WA ? ®5q %5
Which type of fluorescent tube lamps are used Instant start Rapid start Fluorescent lamp Fluorescent lamp  [S[H[oL el s@ellol Ulse Hie sl [dRd UG sARIAR »sUl ag sARRA AU As | selRlRAee AU A B 2
for dimming and flexing circuits? flurescent lamp  |fluorescent tube lamp|  single tube lamp double tube lamp  |UslRell ARAAR Yol Ay am AR Yol QXY I [ARCRET] Yo Ay

dquRU B ?




11 [Which is cold cathode lamp? Mercury vapour lamp | Fluroscent tube lamp Halogen lamp Neon lamp sles salls A sl © ? HReYI| AUR AU | sellRlAce Yol AU dcllogat Ay [lallot Ay
12 |Which chemical composistion powder gives Zinc silicate Calcium tungstate Cadmium borate | Magnesium tungstate [[@2llot flot Q1w dlal setRell AMs Alcdlse SR2aU Soree Fsan ollRe Dol 2oree
green colour light in neon sign lamp? yslal 12 sl 3Rsc @Asal
ulasell Guallal Ul 8?
13 [Which position the MA type HPMV lamp to be Horizontally Vertically Inclined Any position Yslel Hie MA UslRell HPMV RIS aldsa BosClESal $18 uel RAlAul
hunged for lighting? AU 58 @AM cdestadl
A ?
14 {What is the name of high pressure sodium Electrode ARC tube Base Sodium vapour  |X' 315 Rllad adct G 8As2S AARUL Yot Ak Alslad QuR
vapour lamp part marked as 'x'? ggLelol %T}[Ean AUR Aryell
@oLo] ol 9 B?
3
3
H
15 [Which colour light sodium vapour lamp gives? Yellow White Blue white Blue AlslAU QU A iUl sERel Ylou ASE aledl Ae ateoll
ystel AU B2
16 |Which part of sodium vapour lamp fitting Ignitor Leak transformer Capacitor Thermal starter  [dlSaH cRln Aru [§2olell s galollefe REFETRRE PRIOEE PR EESER
provides the igniation voltage initially and acts AU AZULAML Boollalet ey
as a choke for limiting the current YELo 83 B U RURULE AcHlot
subsequently? s22a HallEd sl M2 As 33
sLH 52 ©?
17 |Which is represented by the symbol? Photovoltic cell LDR NTC resistor LED ydls alRL sal % wAA 82 slelalCls Adt Al WAl AP Acd. sl
2
ANODE CATHODE 3
H
18 |Which lamp acts only as switch instead of LED Minature lamp Flasher Carbon filement lamp [$20l QXU UsL2l AUUCllal HEA AA. . sl Hlo{l202 Ay SAR slolel SR AU

giving light?

RAU sRclle] 51U 5 B?




Name of the Trade :

Wireman 2" Semester - Module 5 : Industrial Wiring Practice

Question OPTA OPT B OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level
Which wiring is preferred for motor CTS wiring TRS wiring PVC conduct wiring Metal conduct wiring ~ [GElloML Hl2R seisalel Hie sl AR atalRa SRAY aluBRPoL [ ULl sloge ctalFal| Red sloge cwalRoL | D 1
connection in industries? clARolal URLE selMi WA B?
Which factor determines the size of wire Load current Supply voltage Type of motor Purpose of motor 52l URola wlellls HieR Als $22 Al AR PEEENIRVETE HleRell &g A 2
to be used for industrial motor wiring? cwRaL HE GUAML Addl
dlARq] SE otssl 52 B?
How many sections of wiring are there in 1 2 3 4 ALl H2R araulRowHl q R 3 ¥ B 1
industrial motor wiring? alaBotell dect @ewon d?
Which is the purpose of control wiring? To limit the load current | To incrase the motor To communicate the To measure the load ~ [$3lct allRoLell & 9 82 Als ddHletal Halled [ He Betye dleex | Bawdua [RAd [dddiet dls A Hiual | ¢ | 2
input voltage commands to control current gcll aulal Hi2 sal HIZ A
devoces At sRau
Why power and control wiring is to be run | For easy maintenance | To avoid current radiation | For easy identification To reduce the voltage  [3l&lldls Hl2R cuaARoHl weR AR sl e  [adHiet [AlsRel ainat AR O 12 adle QU eaLscll B 2
in a separate conduct in industrial motor drop U 52t clARdLa UAdL ue e
wiring? URARML 3H AUclldd ASA?
Which is place the control ON/OFF Near the control panel Near the input main Near the entrance Near the motor eNdls HleR a3 ygal sl Wolctell ots | vl gotyeoll os PEEERTE HeRell o19s D 2
switches to be placed a industrial motor IS (BTN E WENERVEREDPTE
wiring? sl 87
Which is the part name mared as 'x' over load relay No volt coil Sprial spring Studs AsU' IR 5 1Azl olsagll AR dls RA ol dleg sl8d uRa oL RsU A 1
starter face plate arrangement? 313 Al @lol sl 53 §?
N, ¢
x Tt L A P 5
. R g
:
Which is the name of starter? Auto star delta starter | Manual star delta starter D.O.L starter MINI manual star Rle] ollH g B? el R deal e | AoyPud R dcal SLalAd. =R Holl At ek | D | 1

wanzaL1cs

@1ER




9 |Which is the name of relay marked as 'x'? |  Under voltage relay Electromagnetc relay Over voltage relay Time delay relay A A3LS Rad U RAq] s dleew Ra sAs2ANX (s RA R dlew RA 2 sla Ra
ollH g B?
X\;iiij
I E N
. |
V- y A z
| §
2
:
10 |Why over load relay coil is wound wild To carry the line voltage | To reduce voltage drop To carry load current | To reduce the power loss [lleR cls RA S8 SR AlSel A% clgel dl@y QU talsal | Als 832 AlG Al UldR Al datscll
thick gauge of copper wire? alatRell oLEll it Aoy M ©? scll ueRe e
11 |Which is the purpose of single phasing  |To protect the motor from To run the motor To regulate the supply |To protect the motor from [3 ¥ 2R AlSeHl Rlowat %ot Hera dslatedl  [Rod 30801 uR we? Al AR%q] R Alsdl Hzra
presentor in 3 phase motor circuit? damage continuously at single voltage over load Yddsdlall &q 52 B? olAldal HI2 Al Udlaal (QauHet sal |2 olAuldal HER
phasing
12 |What is the formula to calculate the value What is the formula to calculate
] . . ) . . . . Suppl It Supply voltage
of insulation resistance while testing the R = w IR = Load current LR = _Supply voltage LR = M the value of insulation resistance | I.R =W LR = Load current _ Supply voltage | | o _ Supply voltage
wiring? supply voltage supply voltage Leakage current Load current  |while testing the wiring? supply voltage supply voltage Leakage current Load current
13 [What is the formula to calculate the ol Yool BorfA2lat
. . : 25 vo |Riz 50 ol Ri= 50 MO |rie 50 o >3 5 Ri= % Mo |Ri- 50 _maolrio 50 Mo |aie 50 v
standard value of Insulation Resistance  |Ri=q T et oMo IRi= G e diou No. of points in the circuit ~No. of lamp holder in the circut ol (R) oll UHIRGd No. of points in the circuit No- of switches i the cicui No. of points in the circut No-of lamp Tolder i the cicut
(Ri) as per BIS? Heauoll oRLARl Hi2e] ¥yt g B2
14 |Which is the unit of insulation resistance? Milli ohm Ohm kilo ohm Mega ohm BorA2lel AR AsH 5 B? el »llen wleH Sl oM PRTENE
15 [Which rated voltage megger is used to 250V 500V 1000V 2500V sl 225 dleey NoReAl Guallal 250V 500V 1000V 2500V
measure the insulation resistance value 3 %2 415V 8o552lel Hl2Roll
of 3phase 415V induction motor? BorAolel WARY HEUR
Hual M w82
16 [Which instrument is used to measure the | Shunt type ohmmeter Series type ohmmeter Megger Multimeter BorfA2lol ARl Hiual Hie | 202 usk dlled HleR | AQll usk xan{leR 2R ylle?
insulation resistance? sl Aldotoll GUALL A B?
17 |What is the main reason for leakage Insulation failure Low earth resistance  [Incorrect size of earth wire|  High earth reactance  [clARol BorlA2ctHl (A% 532 | SoAaot [Argncll Al Aot R | et ctaRell Widl | auR uellol uad
current flowing in wring installation? adale] Huu sl0L g B? ALY
18 [How many earth continuity conductors 4 3 2 1 Hellotell Uotct ollS ua Huu 53 3 ) 1
should be provided from the machine to e BAsASA decl U AUcd
panel board and to the main earth ales Ul A ?
electrode?
19 [Which size of GI conductor is used for 14 SWG 10 SWG 8 SWG 4 SWG Hul 8As2se 2Rl wlelol 14 SWG 10 SWG 8 SWG 4 SWG

earthing to the motor from the main
electrode?

5l M2 5L SEL YU
$5520ll GUAoL Ul B?




20

What is the colour code of protective
earthing conductor as per NE code?

Blue

Black

Green

Red

NE 8ls 4xel 2&RUeHs ARBLL
§552R0ll sCR 8ls 9 87

atgoll

sLol

dlal

ald

21

What is the recommended resistance
value of earth continuity conductor used
in domestic wiring installation as per IE
Rules?

Not more than 8 ohm

Not more than 3 ohm

Not more than 2 ohm

Not more than 1 ohm

IE Rl ool uRef cul3al
BorelAAAML AEDL Uddclles
ekl uldsik Yea el 82

8ohm $2cll clUl? o1l

30hm $cll U o1l

20hm $cll AR &l

1ohm $cll delR o8l

22

How many earth is to be provided for a
AC 3 phase induction motor?

Al 3 32 Bo55310l Hl2R HIS

3ecll wlEol Yelet sclell 8l
®?

23

How to reduce the earth resistance value

By connecting two earth

By increasing the depth

By connecting to earth in

By decreasing the depth

wd yldslk yeaua wg 3dl Ia

AQMML A A Al

el WS ol BLsLES

AHLAR wlor wA

Udall wle ol BsLES

keep as low? in series of earth pit parallel of earth pit AWG? audla salse s3lal ENE
24 |What is the minimum clearance required | Not less than 22.88 cm | Not less than 18.4 cm Not less than 15.8 cm Not less than 10.2 cm  [2Uellls cwaRotdl Wotct ollSell | 22.ccAHL lally | ey Al dl 2y [aw.cAl ol g otal | 10,23 ol 2y el
between the wall and backside of a panel Raet ual wenell ouxyell a2 a8l a8l
board in industrial wiring? ol wdR d2¢ &l 87
25 |What is the distance in front of the switch 2M 1-5 M 1M 05M AeBLs Votet oS crulRoL Hie : Hl Lul 1l o.udl
board for industrial pannel board wiring? ellu 8ol R Feqf vdR B2
26 [What is name of part marked as ‘x'? Cable entry hole Bus - bars Enclosure Porcelain supports  |'X' 315 Rad YA @lole] olin S yaa Bs Ol - GR lolstal WIAS yae
9 87
g
27 |What is the thickness of steel sheet using 1 mm 1.5 mm 2 mm 2.5mm ol GR ARl sclRell GullaL 1 mm 1.5 mm 2 mm 2.5mm

the covers of bus bar chamber?

s3la 2let el stes decll ®2

28

Why the equipment are arranged in front
side of the switch board in industrial
wiring?

To avoid short circuit

To operate easily

To test the supply
frequently

To avoid personnal
contacts during
maintenance

lelbls caZotl AU 1Sl
AR cey o 12 Gusel
sllsclallHl AA B?

e ulse aloal 12

Aol uclaal He

ALcldell Rl
yilaal s:el

el e:aet
(5oLt Fusl alael
2

29

What is the purpose of openings
provided in bus bar chamber?

For cable entries

For air circulation

To release the heat

To extend the bubar

G WR 36RUL Gedleotoll 3
9 87

3ol VoA U2

scllell UReHgL HE

ARl Y5 s2cll

ofolRal dadtatal

30

Which material is used to make busbars?

Brass

Galvanised iron

Aluminium

Bronze

AR olollalell HI2 58
AHIlA GuAL UL B?

Brass

NSRS Al

ARRan

Bronze

31

What is the colour code of 3 phase 4 wire
AC supply system?

Red, yellow, black, green

Red, blue, black, yellow

Red, black, green, blue

Red, yellow, blue, black

353 4 cllaR AL w2
Rreuall seR Sls 9 82

ald, dlay, sta, dlal

A, dledl, sta,
o

Aald, s, dlA,
atedil

A, Jla, ateddl,
sloll




32 [What is the colour code of single phase Red and blue Red and black Red and green Red and yellow NE 815 yosol Rlote $05 ARl Al Al aledil Al Aal sl Ald Aa dldl Ald A Ylal
AC supply as per NE code? A2l SR Sls g B?

33 [What is the alpha numeric notation of 3 L Ly &N U,V, W&N R,Y,B&N A.By, C &N 3 colsSlell GUSRQL FISIQle] L, Ly L& N UV, W&N R, Y,B&N A,B;, C, &N
phase apparatus connection? ulesl vissisla Add g B2

34 [Which material is used for harnessing of Metal bands P.V.C sleeves Link clips P.V.C saddles S01ctoll GUALoL Hie 58 Ned oo YLl 2:ellens ds (sawt YLdllAsa

cable?

AHIlA GUAL ULl B?

35

How the cable size is determined for
industrial wiring?

By considering the
voltage of circuit

By considering the load
resistance

By considering the

current carrying capacity

of the cable

By considering the power

factor

AENOLs cuFaL 12 Solctd] sE
3cll AlA otssl srauMi waA 82

AUSeoll dlwa
tllotHl A

Als AcRYal tallolH
ASal

S0ictoll 522 cleot
s2cllofl aHdlal
tllotHl Al

UlaR %520 LallotHl
AeSal




Name of the Trade : Wireman 2" Semester - Module 6 : Commercial wiring

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans |Level
1 |What is the minimum bus bar clearence 25 mm 32 mm 36 mm 40 mm Heau cllees AMASAAHL dotssiull 25 mm 32 mm 36 mm 40 mm B 1
between phases in medium voltage AR ool UAGR (AU F2q
application? 82
2 [What is the maximum permissible voltage 12.5% 8% 5% 3% WY (X Yol peraUl A 12.5% 8% 5% 3% A 1
drop at the point of the commencemert of cdtllRAell GRU dleey HIZ2 dULeSlall
supply at the consumers end for high and LAl 2AI Ul YR HETH HleU
extra high voltage as per IE rule? Ay JU sedl 8?2
3 |How the cable is to be connected with the By crimping lugs By crimping lugs | By directly inseting By twisting the  [U88 [lad ool [AcdR0QL WA Suct | SlEURl Suct AR | SlTURL SUA ARal | slFURL Sud A | AR 2[dre s3la A 2
distribution towards as per IE rule? without cutting any | with some strands | the strands into strands and 5cfl AlA AlsaHl wadl? sl ([@Qotl o | st @Qott cdtal | st ([Qetl ALl ol 2[otcrHl
cable strands cut off terminals inserting into $55 53lal 555 s3la $55 53la A 53l
terminals
4 [Which is used to protect the conductors that Wood batten Rigid metal conduct |  Flexible metal Flexible non metal [318.8.o1l [AaHl Yo sullact Al GLsS U Ned 5552 | cadls Hedt 5552 | cals (ot Hed | B 2
passing through walls in commercial wiring as conduct conduct Rl R atcHiell uur Ystil §s52
per IE rules? §552a YABlA sal W2 s
GuRllaL UL B?
5 [What is the full form of ‘LAN'? Load Area Network | Local Area Network Local Aviation Local Active Network| 'LAN’ of Y3 ollH 9 8? Load Area Network | Local Area Network Local Aviation Local Active Network| B 1
Network Network
6 [Which is the inter processor distance of LAN? | Above 1000 km | 10 km to 1000 km 1 km to 10 km 0to 1 km Qotlo] Bo2? UIRAUR R 32 87 Above 1000 km | 10 km to 1000 km 1 km to 10 km 0to 1 km D 1
7 |What is the data transmission medium in PVC cable Armoured cable Belted cable Coaxial cable  [QotHl Sl glor(Halote] HItAH 9 B? IR $uct wUAHS Soc Aol SHA sl - AAA Suc D 2
LAN?
8 |What is the characteristics of ‘LAN'? Consist one Group of 2 or more |Group of computers |Group of computers [‘LAN’ oll clellQlsAl 9 82 $5cl AS o UHlet (GO 2 | [Aldu (Aol | el yel [rkdl | B 2
computer only computers in the | in different building | in different area $1Rj2R0oll UHLIALL wal ay s1J2R0ll AU $1RJ2 el QU
same building AR B $1RJ2R0ll %
9 |What is electrical drive? Electro mechanical | Electrical device Electronic device | Mechanical device [8QlsgsA glecl A2A §? sAs2 Mskisa sAlesc Basu | sasalds Gus:Wl Als Bus:waL A 1
device (Sausu
10 [Which is the application of electrical drives? | Agricultural pumps Fabricating Water treatment Electric traction [8QA[s25A glecdiall Gualol sl 8? s Uu sasleol asau | o YlasWL wellee sAlses g52let D 1

workshop

plant




11 |Which is the advantage of AC drive? Power and control | Speed and design Produce a Heavy windings  [AR{l glesctall sl2A€l sl 8?2 UlaR Aal s2ld olld ua St | Ruyades da gld R (A3
circuit are simple | ratios have upper |simulated wave form required Uz R B OJRlttR ML Gucl olotlal ylaAus O
limits wallel la ®
12 [Which LED indicates the fault occurred in Green Yellow Red Blue sl AATSL YUA B & glscHHl dlel Jla et ateol
drives? wil uxle 82
13 |What is the expansion of UPS? Uninterrupted Uninterrupted Uninterrupted Uninterrupted  [JUlRA™] Y3 ollH g B? AR wearR ReH | wldRd dloy yasl | uldd waR AR uaR
Power System Power Supply Power Solution Power Section %ﬂcq%loi (Qewot
14 |Which circuit diagram is illustrated? ON line UPS OFF line UPS Bridge rectifier Metal rectifier  [s2l A($e staoUH 1R 82 Ul ALt NERCTG LI RUENETS (Qos 2se sl Ned Aseslar
IRVIENETR
e Dvl
15 |Which part is marked as ‘X' in the block Reset switch Change over switch Control panel Battery charger |’ Gll8sol JUlRA™YAL 6Als SLADUHHL AAe Raxu Yog ullaR A EEETIREE! 23l UR

diagram of ‘OFF’ line UPS?

INPUT
NORMAL POWER SUPPLY

g

STATIC
SWITCH -1

-

RECTIFIER

CONTROAL
FREQUENCY
INVORTER DC - AC

EATASPDS801

%au AR A AF RBA s
?

16

What is the relation between back up time
and capacity of the battery of an UPS?

Capacity of battery
increases back up
time increases

Capacity of battery
increases back up
time decreases

Capacity of battery
decreases back up
time increases

Capacity of battery
has no relations
with back up time

AsAU UHA Aol JURAHAL el
Al AR g Aol B?

a23all etcl As
WU YHA Rl ®

ae3lell el all
B As WU UHA YU

ole3lell el As
Y AHA 9B B

ole3lell atHcliall
ols WY 28H WA
S¢S Aol ol

17 [Which component is connected across the Diode Transistor Triode Polyster capacitor [cllaolledl clauiaal Hie o Ul ol stalls 2ildeeR 2lalls WdeR 3uRleR
transformer winding of an UPS for protection 2l SR ([AlBowl 53 ues sl
from lightening? 8?

18 [Which electrial / electronic devices requireds Air conditioner Micro wave oven Computer Television sl Al s / 8As2ls Gusl UR sdlalelR Hgslaa Al $12J23 2lAldoset

ups?

R YUl AY waas B?

19

Why the battery is to be palced neaer to ups

To minimise the

For safety reasons

To increase the life

To reduce voltage

YUl Al ctaRoHl Y LA

Solctoll collsS

AAUH LAl 5100

Azl et dulRg

adlee Slu ualscll

in ups wiring? length of cable of battery drop ss A3l 3u yscll sl B2 galsal MR e
20 |What adjustment is to be done in commercial By connecting By using a change By using rotary By using ICDP  [& &cll ay YUlAdoll Boe5olsalot | %l solse 5l | RA URetl §R51R01 A3 1l ASALSIUL cfl2uall
installation for interconnection of two or more manually over relay switch switch HER cAdvRls 8 AAAHL 5L GuaAdL s3la GuaaL s3la GuldL s3la

UPS?

allsaltl scloll 232?




21 [How the capacity of an inverter is expressed? Watt hour Ampere Volt ampere Ampere hour  [8ocleRell &Ml 5l I causd ala dle waR AR dlee AndlaR 2R wWearR
87
22 |Which wire is used to connect inverter and PVC 1.5 sqmm Special auto wire PVC 1.5 sgmm PVC 25 sgmm  [8octeR ual de3la salse sal Hie  [UlR{l 1.5 adlott | vt el aR Ulcll 1.5 0Ll [UllRll 2.5 Lot
battery? copper wire aluminium wire copper wire sl clldRell GUAL AldA B? SIUR clAR [ DETRCTIE SlUR alAR
23 |How the neutral is provided in an inverter? It is common for Separate neutral | Neutral is provided | Netralis provided [gocteHL 24ellot &l 2lA YELot d BocleR UlB2Ye | UAIL U cllAR | 2 g5t wB2 e Al YU
inverter output and |  wire is provided for out put only for AC mains only [scldi A B2 ol AL Ao MRS | AUUH] AA © Y HI2 YElst H2 % YElst
AC mains AUHLA B gAML AUA B scUHL A B




Name of the Trade : Wireman 2" Semester - Module 7 : Commercial wiring Il

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
1 [How many labour coded wires the RJ-45 4 6 8 10 URY -45 S6AHl 52l Labour 4 6 8 10 C 1
cable contain? S35 alAR 87
2 |What is the name of the part marked as Jacket Foil Dielectric Braid X 3% RUed &Act eudle] olid g B5e AR HGRIEE Braid D 1
D 87
g
§
g
2
3 [What are the two colours used in 2 pairs Blue and orange Blue and brown Orange and green Brown and orange  [[ddaz MUR% 45 SUsll 2 Blue and orange Blue and brown Orange and green Brown and orange C 1
of elievnet RJ 45 cable? LIl sl A 200l GuldL AL
87
4 [what does the name 'coaxial' refers? Common axis of two Common array of all Common conductor | Common axial of one  [SUSRAAA" sltHell A 9 ©? A cgotoll Ao uet | sl ctgsell AHLA AHA clgs el | Common axial of one | A 1
conduction conductor axis conductor conductor
5 |What is the use of co - axial cable? For transmitting electricity For power wiring For transmitting video For house wiring ue-uella Solctall GuaAdL g B? dlogoll 2lertle sal | waR ataBor w2 | (A A3l YR | et ctaulFoL 1 C 2
signals e scll HI2
6 |Which computer networking component Router Switch Bridge Hub 53 51J22 aA2al5dl s1lolod AGeR RA (oo 8ol D 2
device connect multiple ethernet Bas HAElud sauae
segments together? AoNo2al As A K13 B?
7 |What is the reason for using annealed For good physical For high dielectric To get more flexibility To avoid corrosion  [2[A@$let S0l HIE AAAS SIUR AR WRIRs ewla |G sIsAlsgs dlslc | ay RAsd Aacdl e sl2 alocll M C 2
copper conductor for telephone cable? appearance strength clesell GUADL sclle] S1RQL 9 B? e 2
8 [What is the full form of DTH system? Direction to home Divert to home Direct to home Distance to house SIElRAAU RlrzHo] yul =a3u g 8? Direction to home Divert to home Direct to home Distance to house Cc 1
9 |What is the size of speaker wire of the 10 swg 12 swg 16 swg 18 swg Wls2 ol BnelsiarR as 10 swy 12 swg 16 swg 18 swg C 1
distance between speaker and amplifier Actrell 152 claiRe] s€ 50 geell
is less than 50 feet? A B?
10 [What is the full form of UTP copper Uniform sheated turns | Unshielded twisted pair | Unshielded turns pair Universal standed  [2lUl 81UR cllalRole] Y3 ottt g [ YASl [2s 2ol uder | wotlaleds gldes W2 | wellleds 2ol R universal 2le58 B 1
wiring? package twisted package 87 2lAes Uy
11 |What are the three main factors to be Safety, panning, Collection of material, | Marking layout, fixing Measuring, marking  [SIZlRAA alauRoL e sl AL vt | AcuHdAl, Qo wwe AHIYLA ALs, Rlad QuuGe, Hiuel, HUSoL QuuBe, | A 1

considered for DTH wiring?

budgeting

wiring, testing

of accessories, wiring

layout, wiring

RO alletHl Aol HSA?

atFa, udlawt

aaaélos%[%@ot,

aAltaL

atRFat




12

Which cable is used for DTH termination
to TV?

RJ 45 cable

Lead sheathed cable

CTS cable

Weather Proof cable

SElAudl wedt aa we 2ldl
HIZ sl S0lEell UL Ul B?

URE 45 50A

dls sheathed ¥ud

{2l sud

SclHLel Yrlal S01cd

13

Why correct thickness of wire must be

To minimize the voltage

To obtain good speaker

To increase the

To avoid loose

SRBRAR 7 8l [AA22 GUAR HI2

(3oL A[Feul dle2x

AR 152 WA

aAldRell [Agd clesa

Uesloll 2MHeld U

selected for DTH/home theater curing? drop in curing circuit perfomance effect  |electrical conductive of [ connections on the  |ctiaRe{l AL »tstes 3u urie LU waLsal YA Ullcd sl HIL aulRal Hi2 925 ASIE aLocll Hi2
the wire terminal of the sl wlceaus B?
components
14 |What is the reason, the cables of name | To get more clarity video | To avoid interference | To avoid short circuit To protect the 512061 9 B, olli (A2l s ay Al [Alsa 12J[Bsct B2 Hol clos yaiel ua Components(S el
theatre must be run away from the power with audio and video of | between power supply components from |l yaslell £2 Actac Aol HI2 audiolSal ual clARFal el 20E yeuadl uzslal
supplies? musical item and wiring impact of audio s B? (A3l auga alaal | ulBea eloal W2 YA sall
Hl

15 [Whch factor is noticed as an impact on Speaker performance Video component Space of the room Interference issues of [8lH (A2 cllaul3ol UR AWAR 33 VIEEIETRTRIE QS ues yYedlot RSl RAUMUso{l cllAF21etl EWEsll
home theatre wiring? performance installation wiring 53] URG ollte] B? o3RI HealRA
16 |What is the name of part marked as ‘X'? Energy meter | C cut out Main Switch Distribution board  [altaRoL €M alet [E el ULBU %R slA A UR ollct Slell TR
HleRotl BsAot 1R BA wotiacl
HIZ 52l gColl GURADL Al B?
17 [What percentage limit of error is 1% 2% 3% 5% (Ectet UR G Hleretl clSal 8ls 1% 2% 3% 5%
permitted to the energy meter used for sl ArA ASAH A1URal 9
service meter board? Gualloal B?
18 |Which location, the IC cut out is to be Between main switch and | Between energy meter | First position of the Least position of the  [aluRoL e(Malet [E el ULSU %1UR SLAL WIUR ollct lall P NATE)
connected in service meter board? dstribution board and main switch service meter band | serice board connection |Hl2Retl (3EoL HI2 B olstlcial
H2 sl gctoll GualoL A 87
19 |What is the minimum height of energy 1 metre 1.5 metre 1.75 metre 2 metre What is the minimum height of 1 metre 1.5 metre 1.75 metre 2 metre
meter fixing as per NE code of practise energy meter fixing as per NE
and IE rules? code of practise and IE rules?
20 [Which tool is used to make holes for Pipe jumper Rawl jumper Cold chisel Crow bar atalRat eMalet (&l S %2R sLAL ¥R allct Sl 5l 6llR
fixing meter board in walls during wiring? Hl2otl (5oL 12 BA wetleall
H2 s gClell GUAL Al B?
21 [What is the use of Rawl jumper while To make pilot hole on the | To make holes on the To mark the hole [ To make grooves on the [ctauFal €Ml (&l Wy AR SLAL 1R allct lall TR
fixing energy meter board on wall? wooden gutties bricks points on the wall concrete 220t (3ol 12 BRA wetlaal
HIZ 2L gColl GURADL Ul B?
22 |Where the wooden gutties are used in Wooden board Metal board Rigid walls Non-rigid walls [Ealcdt uR Gosl Hlzrell sllSal 8ls Atsstoll dlell R [ 82l UR B oletlaall | [Ealet uR Blell sl(e U wWiAl

wiring?

sl A AT AR 9
GulaL &?

wadle Ba oleltaal
e

e

oA Al sl
e

olellelall HI2




23 [Which is to be considered to select the Supply voltage from | Type of wiring instalation Current carrying Type of wiring material [d[ddle? Hle? w2 sflllal sea AcUAR sl RieHHl ctalRat goreldlotoll ddHlel | aurRdl awalRal

size of ECC for earthing servie meter? supplier side done in the system capacity of installation used UAE sl M2 sAL Hetaldl AA A sl Alotoll Y52 el &Ml HRRaAAA ysi?
87

24 |Which material is used to prepare Copper Aluminium Nichrome Silver gli2oL AldNee dauR sal He 58 Copper Aluminium Nichrome Silver
heating element? AHlA GuoL At B?

25 [What is the formula to calculate the } nout faice of heat wlc stdatcell o3l e eat e out e of heat
thermal efficiency? 9% Efficiency _ Heatutiised %Eﬁiciency:wx 100 | % Efficiency -y 100 %Efficiency = — 0 o%_y 15 YA %j 87 % Efficiency = ——o " 100 %Efficiency:wx 100 | % Efficiency = P x 100 | wEficiency = reat qonerated © 20

Heat generated Heat utilised Output Heat generated Heat generated Heat utilised Output leat generate!

26

What is the formula for Joules law?

2

H = I°Rt calories

H = I°R calories

G SIRAEL HIZo] Y g B?

2

H = I°Rt calories

H = I°R calories

_I"Rt ; H=———calories _I"Rt i H=———calories
H= 3 calories 2Rt H= 3 calories 2Rt
27 |Which material, the heater plate is made Porcelain Ceramic Eloanite Baklite 585 AL, sler W eellaallH WA RRMAs Sallollese asase
of? wld 8?7
28 [Where the heating element is placed in Near the outer seating Inside a hollow tube Out side the body Below the body 8ll2oL cect @l [AHsatoll YslRell GlLEL A8S oS Us sl 2Yololl BER olelR ol AR 3Rl 1A

an immersion type heater?

gleul Ysauul wWa 8?2

29

Why the grooves are designed with

For the uniform

To prevent the heating

To reduce the space

To increase the

ocdial gleR wAMl yaugl W

IRHletl UHLat [AdR0L

el &lldal dectal

s16cs 2oL AAN2

8Bt dectall Uldsiz

projection in heater plate? distribution of heat element from coming out |  for coiled heating  |resistance of the heating |31 (3238t s2clHl il B? e ueslaal H2 2 2RAL Yalsall aulal Hi2
of grooves element element
30 |Which metal is used to make contact Copper Silver Aluminium Brass sl tlgell GuAL aHlReesll AU sIUR RlcaR AR AuH dan

points of thermostat?

(g olollaial HIZ A B2

31

What is the property of heating element
used in electrical heating appliances?

Low co efficient of
expansion

Low specific resistance

Low mechanical
strength

Low voltage withstanding

Qg ct oRHlatl BuswHl &lleat
AANoeol Metsd 9 B2

Qe ol A6
stdan

Rlust @l ylds2

AL A5 lsic

UG e 28l &g

32

What is the naem of diagram?

weanion

Wiring diagram

Installation diagram

Layout diagram

Circuit diagram

SLALUHe] dllsH g B?

caul3al stauauH

U asld

AuGe ugld

uRud ugld

33

Which is the permissible decleared
voltage supply to HT consumer as per IE
rule?

Not more than 5%

Not more than 8%

Not more than 10%

Not more than 12%

Y. 8. [ Yoo W22l
Guellsdlal uaetd(l 2l asta
Aqg dleee AU sul B?

Not more than 5%

Not more than 8%

Not more than 10%

Not more than 12%




34 |Which formulae is used to calculate the V3 IR 3IR IR 2IR 3 cotsstoll a3l AlseHl V3 IR 3IR IR 2IR
permissible voltage drop in 3 phase URellatdll Yosololl e Slusll
wiring circuits (I=line current R= ARLARL M2 sl YAl GudaL
Resistance of one care only) sclHl WA B (1 = Alatl clcdHlot
AR = g5 As dewnel yldsr)
35 [Which wiring system is suitable for high  [Looping out from switches|  Distribution system Ring main system Tree system 586 cllARol RlkeH G ASH eliell ¢da ([AdRel cacraul vl Rlzen oL sA 2l Rien
rise buildings? BHIRAL HI2 20 B?
36 [Which type distribution is suitable for Looping out with junction | Looping out with switch Bus chamber Raising mains HEReRES sAzUatl cUURL %520t A Gl81R el A ¢l ol AR Hud GBR
commercial wiring of multistoried flats? claRFoL 1 sa UslRe @QdRa olsag
A0 B?
37 [Which system of wiring enables the Ring main system Raising main system Distribution board Tree system araRolell 58 Red Rled A Hud Rl L A | yua Rled auRkdl | [ddRel ol R 2l Rien
appliances connected to the system to system A SAAL GUsWal AHlol AR
have same voltage? RAuLal UBH 52 B? Y
38 [How many earth are to be provided along 1 2 3 4 AWl LI(&oL ctauFotul Aot 1 2 3 4

with the vertical run of raising mains in
commercial building wiring?

dulRelell jcalell et wd 3ecll
yecll yelot scltell 82

39

Which load is to be given separate lines
as essential in commercial wiring?

Star case and garden

Varandda and portico

Common walking area

Lift and water supply

sHRlAA alalZoul sal etRal
VAL ALBell wucl %33l B2

ool 5 Aol oflA

st Ael Wlsl

ALHLA Aol A

[Ase wal wall yasl

40

How many wall socket are located in hall
of the building layout?

X X € e —
£ o
C] [ -] I o
— < § 5
e X N o
S % BED ROOM 2 §
<}
£
5| ||® xmonen S oonmnonI
% x
— —
— X e —
N TOILET&BATH @ £
< X
oo Mo X

1.7m

TOLET&BATH  ®
—
—

67m

5 — L N

SRIRS/17778
45m

— bl BED ROOM 1
& X STOUT oo m g4
« 0B
errviimns — x| «

a7m 3.6m

| whzrL1ON

LU ot QuuBestll & halldtHl secll
R A¥e RAd Bd?

41

What is the name of the symbol marked
as 'x' in the layoyt diagram?

em r x
— =
e
a gﬁ%“ @ &
Yloee <
— “§
H

Single tube flourescent
lamp fitting

Twin tube flourescent
lamp fitting

Incandescent lamp

Fan regulator

Qe stALUHHT X' 35 Rlad
UAA Udlsq] oim g 82

Rl 2ot setlRloz
(3ot

2dlet Yo el

Ay BRat

Ul ystlald elal

Yoius [clanats?




42

What does the marking, marked as 'x'
represent in the office layout?

N

winanion

Size of each wire in mm?

Number of wire runs

Number of pipes runs

Number of wires inside
the pipe

X(EUoll QUG HL X' 313 Rllad
2Ad QR 9 52 ®?

AHJM 2 [ €S
clARq] SE

clAR Retofl vl

weul A 8 Aell
Au=ul

WeUell el
cl2ARe{l vl

43

Whch is the purpose of layout diagram
used for buiding using installation?

To locate the position of
electrical paints in each

To calculate the total
connected load

To estimate the labour
cost for wiring

To estimate the material

cost for wiring installation

Bor2lAalotall Guallol 83l wileal
HIR AulGe gldell & Sloll B2

[RICETEE]
GuAloHi BAlRsA

$& ASLAA Alsell
oLl sl M2

cARaL HE 1R
wAell AELY Gdllelal

al2Rol Sor2lAalet
HZell wHll BHdal

used of the building Aoz el RAQA A HE2 UEL 5L .cl HI2
scll
44 [How many branch circuits are used in the 1 2 3 4 QUG gldnl ecll auvt 1 2 3 4

layout diagram?

wnanaou

LAYOUT DIAGRAMOF PHASE L |

el GuAloL waL B?

45

How much starting current of motor will
respect to load current for calculation of
cable size?

One time of full load
current

One and half time of full
load current

Tow times of full load
current

Three times of full load
current

soictoll s€o{l QAL M2 Herell
YR@s yells 32c Als sal M2
ULER 5A?

AYLl Als ccdHtototl
As AU

Yal cls dcdHiotoll €l
and 1+

yal cls ddHietoll
uQll et

Aydl cls ddetell
QL dulc




Name of the Trade : Wireman 2" Semester - Module 8 : Computer practice

Question OPT A OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
What is the name of computer part? MIC BAR code reader Flash light Camera §1RJ22 Cldl] ollM g 87 S olR sls s $AQ B SHRUA B 1
‘T?—'n‘:;-

What is the expansion of CPU? Central Performance Central Processing Control Processing Control Performance ["CPU"s ([ArdRul 9 8? Central Central Processing | Control Processing Control B 1
Unit Unit Unit Unit Performance Unit Unit Unit Performance Unit
Which part is the pointing device in Key Monitor Mouse CPU $1RJ2HL sl @Ol WEeoL (5 MISEEIER HIGYU ALy C 2
computer? Bausu B?
Which part of the computer performs Control unit Arithmetic logic unit Mouse Key board s12j2R0ll sl oL AURUAS wal [2iaaL [Aewot sl 5t HIGY Sl oll§ B 2
mathematical and logical operations? (ALU) AlBsa sto(ldl 52 B2 AsH (ALU)
Which is the input device of computer Keyboard Projector Floppy Printer 5122 [ReHo] Bolye [Sasy 53 sl oll§ Ylwse scldl [DEEE A 1
system? 8?
Which is the output device of the Printer Mouse Key board Scanner §1RJ20] AB2Ye [Scus 53 B? Qo2 HIGY sl oS WolR Al 1
computer?
Which output device is used for audio Plotter Monitor Projector Speakers sl AG2Ye [Sasell Gualol wHleR MISEEIER Ylwse s D 2
signals? AR R M2 8?2
What is the use of printers? To store the date from | To create hard copies To make more To print the data from [[Wo2Aell GUaA0L 9 B? A sl ARl | s1»42R stecledl ay AvAHl glel  [el8 s copylldl 32t | B 2
soft copy of computer files number of photo hard copy RR sl 8L sl tlollalall | oASCl tollelall HI2 LUl M2
copies e
What is the expansion of RAM? Random Arithmetic Read Arithmetic Read Access Memory Random Access "RAM"c] [dcRQl 9 ©? Random Arithmetic Read Arithmetic Read Access Random Access D 1

Memory Memory Memory Memory Memory Memory Memory




10 [What is the name of the storage device? Memory card Video tape Floppy disc drive Hard disc drive  [R1% [Scl8e] olid 9 82 DETEIIETE Qs 2y sclldl (SR8 sloal FISEREE
11 [How many mega bytes (MB) is equal to 1 10 MB 100 MB 1000 MB 1024 MB 1 oflow cuge (oll) oll elRioR 10 MB 100 MB 1000 MB 1024 MB
giga byte (GB)? Secl Do ol (AMoll) B2
12 |Which storage device is used to store the RAM ROM DVD USB flash drive  [Storageuz(eot [Mreustl sl(eal MU A slals YAuoll sAa glva
instruction for coating the operating H2all YUl AR sal 12
system? 52Ul 2% (Scusuall Guallol al
87
13 [Which storate memory the contents are ROM PROM RAM EPROM su%aeulaﬂ AU YAd RIR ROM PROM RAM EPROM
erased of the computer is powered 'OFF'? A3l 'OFs gl AUAd B?
14 |How many versions of windows 7 2 3 4 5 (A8l 7 xuR(eal Rieuetl ecl B) 3 ¥ U

operating system are available?

AsR BUACY B?

15 |What is the outer name of MS-Excel? Electronic spread Electronic file Electronic document Electronic chart  [AHAU-ASAC] GULE ol 9 B? sas2lols s fle | sAsellals st | 8As2llols excldsy sas2lals U
sheet
16 |Which short cut key is used to bring the Ctrl + E Ctrl+S Ctrl + C Ctrl + X UHAY AGE U 252 SosHl Ctrl + E Ctrl+S Ctrl+C Ctrl + X
text to centre in MS word? dladal HI2 58 M se slell
GUAdL sRaUHL WA B?
17 |Which command is used to display each Slide sorter view Slide show view New slide Slides group Which command is used to display Slide sorter view Slide show view New slide Slides group
slide without menus (or) tool bar? each slide without menus (or) tool
bar?
18 |What is the expansion of ‘WWW'’? Web Wise World World Wide Web World Wise Web Word Wide Web  [WWW'’ of (A0l 9 87? Web Wise World World Wide Web World Wise Web Word Wide Web
19 |Which is the force open source web Opera Fire box Google chrome Internet explorer  [HIBcell s A ust WA Axt DNDEN $laAR Gl J2lA 5lH Bo2ale ASALARR
browser from mozilla? WIBHR 5 B?
20 |Which browser is prefered for small Firefox Opera Mozilla Netscape HlOA §lot Bell olloll BUsRAN ML $laR ollsU AR Hllct R
devices like moble phone? 53 OIGAR UME 53¢ B?
21 |Which browser is an inbuilt browser in Google chrome Internet explorer Mozilla firefox Operamini (ASIBHL 53 WlBRBR Bellolce LA slH Bo2ale ASULARR | Hlal slaRslsu WARAME

windows?

WlBHR B?




22

What is the expansion of E-mail?

Enter mail

Electronic mail

Economic mail

Education mai

8-1ct] [yl 9 82

NS ELHUA 53

& - 1A

ws A8

[EETERT

UHLol Bl 22Ut

AdAs At

Uloled AU Yol Wlol

23 |What is the full form of 'URL' internet Uniform resource Universal resource Uniform resolution Unique resource  [YAURUA' Bo2rele ARetlMle] Y&l UHLot A 2ot
address? location location location location aA3U g B? Yot Ulet

24 |Which folder in e-mail store messages Inbox Drafts Sent Spam B-18A RR AeAML 59 8652 BatollsU slsed HWsAA U
that have not been sent? s otell?

25 |Which default folder of E-mail that places Drafts Spam Inbox Trash 8-18Clo] 53 (5% defaultce $lesR sl AUH BolellsU 53

the scanning e-mails?

8 % Wollol 8-Ac H3 B?




